Lesson 18

Chapter 13

Midterm review
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1. You want to build two enclosures using exactly 3000 feet of fencing. One enclosure will
be an equilateral triangle, the other a rectangle. The basis of the rectangle has the same
length as the sides of the triangle. What should the side of the triangle be in order to
maximize the area of the two combined enclosures 7
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1.

7.

Note: the order is important.

How to graph af(bx +c¢)+ d

Graph y = f(x)
Horizontally :

2. Shift |c| units, left if ¢ is positive, right if ¢ is negative .

3. Scale horizontally of a factor ﬁ (compression if |b| > 1,

expansion if |b| < 1)

Reflect across y axis if b is negative . Skip this step if b is
positive.
Vertically:

. Scale by a factor of |a| (compression if |a| < 1, expansion if

ja| > 1)
Reflect across x axis if a is negative . Skip this step if a is
positive.

Shift |d| units, up if ¢ is positive, down if ¢ is negative .
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1.

7.

Note: the order is important.

How to graph af(b(x + ¢)) + d.

Graph y = f(x)

Horizontally:

Scale horizontally of a factor B .(compression if |b| > 1,
expansion if |b| < 1)

Reflect across y axis if b is negative . Skip this step if b is
positive.

Shift |c| units, left if ¢ is positive, right if ¢ is negative .
Vertically:

. Scale by a factor of |a| (compression if |a| < 1, expansion if

ja| > 1)
Reflect across x axis if a is negative . Skip this step if a is
positive.

Shift |d| units, up if ¢ is positive, down if ¢ is negative .

2023-11-03 13:48:50

7/12

lesson18 (7/12)



Sketch the 'graph of g(x) =3|2x — 5| + 1
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Sketch the graph of g(x) = 3273 41
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f is even if f(x) = f(—x).
EX: cos x Is even

fis odd if f(x) = —f(—x).
EX: sin x i1s odd
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